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P.EM.D.AS

The first step to solving

an equation is simplifyin
1 ) plitying 1, P- parentheses
with pemdas. This tells you
) 2. E- exponents
what order to follow and gives o
3. M- multiplication

4, D- division
5. A- addition
©. S- subtraction

you the correct answer.

multiplication and division are done in the
order in which they appear. The same is

a
true for addition and subtraction, but 3(9-3)-6 +7-5
multiplication and division are still done 1. 3(6)-6 +7-8
before addition and subtraction. 2. 3(6)-36+7-8&

3.16-36+7-8
Try These: 4. -186+7-8

4, -11-& ans, -19
1. 4-5(9+6)+8 -20  2,20-10-(9-6)+21 4+ 19

3. 13(9-11)-43-%12 +1 4, 15-6+12-10-34

5. 67-70+2(5-6)+1° 6. 3(9-4)+21

Answers in back
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One Step Equations

The first step is to make sure you have
simplified using PEMDAS.
Next you must collect like terms and

get the variable by itself EX. 3-4=x

Do T2 cpEposite of What
IS Being e Fo the varcole

) et @
mulhp\imt,x do oiviBion =

ans, -1=x

X+0=2 subtract 6 from both sides

A + do ~Subtrtact
\. X+ :2
..  -0
Try These: x=-4

1. 5-2=x 2.245=x 3. x+2=3

4, 5-3=x 5. 7+x=20 6. 8-30=x

Q: what's purple and
commutes?

A: an abelian grape

answers in back

@



Two Step Equations

First you must simplify

using PEMDAS., Then get all EX. 3x-4=2
the variables together and Bx-4=2
finally get the variable by +4
itself by doing the opposite 3x=06
of what is being done to it. 3 3
+=- ans. x=
Try These:
1. 4x+4=5 2, Bx-2=86 3. Tx-6=-10

Q: what does the mermaid math teacher wear?
A: an alge-bra



Complex Equations

First you must simplify

using PEMDAS. Then get all EX. 3x+6x-2(4-6)=1-4x
the variables together and 9x-2(4-6)=1-4x
finally get the variable by Ox-2(-2)=1-4x
itself by doing the opposite 9x+4=1-2k
of what is being done to it. +4x +AX
+=- 193x+4=1
-4 -4
13x=-3
13 13
ans. 3/13

Try These:
1. 1+12%-(9-2)=x 2. 8x-2(3-5)=9-x  3.19x= B-14x(12-4)

Q: why did the mathmatichian name his dog Cauchy?
A: because he left residue at every pole

answers in back



Fractions+Complex
Equations

First you must simplify EX. <\/a (bR UK (/57&1( %3)6
using PEMDAS. Then get all
the variables together and dxt 1B+ RHx= ot
finally get the variable by Fen Salles
itself by doing the opposite ‘\\\m\%\ Lo\

of what is being done to it. - \_/
v=- ()= -

There is also an extra trick with
fractions to help you. First you must
get rid of the parentheses. Then you
multiply the entire equation by the

least common multiple.

Try These:

1. ‘S/L{)(*'\/Q\"}*%:%/S 2. 72 1'3/3)(:[ 3, B/L/—%-)(:L/

answers in back



De F.O.l.L.

You defoil when your polynomial is not a special product.
When you defoil you have to play guess and check. You take the
first and the last terms and plug them in to see if they will give

you the middle term.
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